Multiplication de Deux Trinomes (D)

Simplifiez chaque expression.

1 (3k3 + 8k* + 2k)(5K* — 3K + 9k?)

0 (—62% + 2% + 92)(—42* +42° — 327)

(=7m?* — 4m — 8)(—6m? + 6m + 6)

(%)

L (—6¢° — 3¢" + 8¢%)(—2¢" + 6¢° — T¢?)

St T — 6t%) (3t — 5t — 7)

Ot

6. (8a® + 3a* + 9a)(4a® + 3a* — 2a)

7. (62% — 5 4+ 1)(—2® + 42 — 8)

s (4p” — 2p° — p)(—6p° + 3p° + 4p)

~

9. (6g3 — 3¢+ 8g)(—8g5 +4¢* + 4g3)

10. (=387 — 6t* — 6t%) (5% — 2t + 4)
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Multiplication de Deux Trinomes (D) Réponses

Simplifiez chaque expression.

1. (3k% 4 8k? + 2k)(5k* — 3k* + 9k?)
— 15k7 + 31k + 13k° + 66k + 18K3

2 (—62° + 22+ }9z)(—4z4 + 42 — 322)
= 242" — 282° — 142° 4 332" — 2727

3. (=Tm? — 4m — 8)(—6m?* 4 6m + 6)
— 42m* — 18m?> — 18m? — 72m — 48

1 (—69° —3¢" +8¢”)(—2¢" + 69° — 7¢%)
= 12¢° — 30¢% + 8¢" + 69¢° — 564°

ot

(2t 4T — 6t%) (3t — 5t — 7)
— 65 + 1145 — 67t — 194 + 4212

6. (8a® + 3a® 4 9a)(4a® + 3a* — 2a)
— 32a% + 36a° + 29a* + 21a® — 184>

7. (6% — 5z + 1){(—x2 + 4z — 8)
= —62% + 2927 — 6922 + 442 — 8

8 (4p° = 2p* — p)(—6p° + 3p° + 4p)
= —24p° + 24p° + 16p* — 11p® — 4p?

9. (6g° — 3¢% + 89)(—8¢° + 4g* + 4¢%)
= —48¢® + 48¢" — 52¢° + 20¢° + 324*

10, (=3t" — 6t — 6t°) (58> — 2t +4)
— —15¢7 — 24¢% — 30¢° — 12¢* — 2443
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